SH1—60
HAKARU PLUS CORPORATION

S - BER L U—XHH

WMEEEY) X b
R—= R £ i = i
2 |sns SH1-60
4 EEa 6R-2/KR-1 XB2-110 4> CQN-80V, CON-110V I= A

imegs (SH1-60 > U—X) 1/5



inas SH1-60

@t

550 ¥ . JIS C1721
1 HB:OSMGTBOEHBEREBBALILLEZD
BEEHMFEOEREERTF&E
SREBEREICHT 5EHE)

: 250A LRI ERDREE.
300ALLEEELG LA RS

RELFRE : ERERD 80%NDERT 80CLUT

WY fIFAR : EEEECKFERMS

#®

fﬁ'ﬁ

(ETHmIcERMZEHITTRAZEC L.

WEBEICEELTTEW)
ERER - 5~3000A
(DPRBEIBRETHDHIEEEREL.
FRAE LTERERAERON 1.5BEULED
DRBERELTLCESEY)
EHREE : 60mV
B IE - DCS500V 1OMQ UL E (B A2 RBF|DHIZER)
fit & FE: AC2000V 1 A (R HREBDOAITEA)

W5~50A K
i X SH1-60-C1
EHER (FEA{fitk 5.000M)

5A. 10A. 15A, 20A. 30A

EEEETHEDE

-5 5 R PUHFTUREE

I N Iu -
S S— — A o
BT
EEHT 2N+
88
54
|¢>‘ _
|
[ —— T — i
T
H H1 | H2 | H3 | C B8

5,10,15,20,30A | 40 LIF 29 |20 |8 |20 | #0.2ke

BEHF M5ES Tmm
BERHF M6ERE 10mm

W50~250 A

2 E2 SH1-60-C1
ER B (€-%:3ik;:)

50A. 75A. 100A 6. 000

150A 7.000 M

200A 8.000

250A 9.000

EST T

2-05 5 R OUNHFFVEEE

169

150

Ly T s o I‘, @
IS — 2 €

88

BT

EBEMHF 2-M5 £

54

40
0o 1Lay | ~
57
T
H H1 | H2 | H3 | C EE
50A, 75A 40 LI 29 20 8 20 #9 0. 2kg
100A 60 LT 29 20 8 20 #9 0. 3kg
150A 60 LT 34 20 8 22 #9 0. 3kg
200~250A | 60 LA™ | 36.5 | 20 8 22 #9 0. 5kg
BEEHF TR F

50A, 75A M5 ZR&E Tmm

M6 i®E 10mm

100A M5 R & Tmm

M8 ZR & 10mm

150A M5 ZR&E Tmm

M8 i®E 15mm

200~250A | M5 R & Tmm

M8 ZR & 15mm

OR TV REOT v MERKED AT by
4 X T RIL S IE (Nm)
M8 10.0~15.0
M6 4.16~6. 24
M5 2.4~3.6

(SH1-60 1) —X)  2/5




W300~750 A
S SH1-60-C1

ERER (A fiffi 4% )

300A 9,000 M

400A 11,000 M

500A 14,000 M

600A 17,000 M

750A 30,000 M

| SRR g o) |

2M5 B—SFIHRT

e

Ay

A
@

L/

N/
I/R

£
I5
=

=
E‘
=
=

G BEERF

300A (140({110{ 32|22 (10 {50 |60 | M5 5y7" iR & 8mm

400A ({140(110|32 |22 {10 |50 | 60 [ M5 4y7" & & 8mm

500A (165(125{46 |30 (12 {60 |67 | M5 5y7" IR & 8mm

600A (165(125{46 |30 (12 {60 |67 | M5 5y7" & & 8mm

750A (190{140|{ 65|40 [15 {70 | — | M5 4y7" iR & 8mm

GEYFEAKF| BERHT B8
300A | M5 4y7° i & 8mm M8 x 60 #5 0. 5kg
400A | M5 5y7° & & 8mm M8 x 60 # 0. 5kg
500A [M6 497" & & 10mm M12 x 60 # 1. 0kg
600A |M6 4y7" 2R 10mm| M12x60 |#91.0kg
750A - M12x 60 | #5 2. 0ke

MBERR (T RN =) & 53 Ui fs O HEARED O & & HESE Tk

- 300A. 400A fh

L :12.5mm
+ 500A. 600A. 750A &
L :15mm

W 1000~3000 A
i =® SH1-60-1
EHRER (RS
1000A 40,000 M
1500A 50,000 M
2000A 80,000 M
2500A 160, 000 M
3000A 170, 000 M
B G om) |
B
2M5 4—SFLRY
©® ©
S N R 7 S N s b
\% : A\
@ e
F F
A
i< D=
| |
~fHiE - = T -
A|lB|C|D|E|F |G ExmFERKF EE

1000A 200{150| 75 |40 | 15| 75 [ 40 | M5 4y7" (M12 % 60 |#3 2. 2ke
1500A230({170{ 85 |55 | 16 | 90 [ 45 | M5 4y7° (M12 % 60 |#3 4. Okg
2000A|230(170|110{ 55|16 |90 | 60 | M5 4y7° |M12x 60|#J 5. Okg
2500A|254(198|110{ 70 | 23 |102| 60 | M5 47" |M12 x 90 |#J 6. 5kg
3000A|254(198|110{ 70 | 23 |102| 60 | M5 4y7° |M12x 90 |#J 8. Okg

BEWF 1000A~3000A FE 8mm
BERmF 2&F+2 &R

XEBHR (TRNR-) ENRBOEMBORS

#ESTE L 25mm

OF VRUT v MERED T LAy

H4 X AL LS (Nom)
M12 33.6~50.4
M8 10.0~15.0
M6 4.16~6.24
M5 2.4~3.6

simEs (SH1-60 > —X) 3/5






